Chemical Reactions and Equations Chapter Wise

Important Questions Class 10 Science

1.“We need to balance a skeletal chemical equation.” Give reason to justify
the statement.

Answer. Skeletal chemical equation are unbalanced. We need to balance chemical
equation because of law of conservation of mass. It states that ‘matter can neither
be created nor be destroyed’. Therefore chemical equation must be balanced in
each and every chemical reaction.

2.Giving an example list two information which make a chemical equation
more useful (informative).

Answer.
(i) Physical state of reactants must be mentioned, e.g.
2Hz (g) + 02 (g)———>2H20 (1)

(ii) Condition in which reaction takes place are written on the arrow head, e.g.
9H, (g) + O, (g) —2UMNE , 9H,0 (1)

Consider the following chemical reaction

X + Barium chloride——->Y + Sodium chloride

(White ppt)

(a) Identify X’ and ‘Y’

(b) The type of reaction

(a) X" is Na2S04 and Y is BaSOa.

(b) The type of reaction
NazS04 + BaCl;—-> BaSO4 + 2NaCl
(White ppt)

The reaction is precipitation reaction. It is also called double displacement
reaction.

3. Name the reducing agent in the following reaction:
3MnO; + 4Al———— > 3Mn + 2A1203

State which is more reactive, Mn or Al and why?
Answer. ‘Al’ is reducing agent.

‘Al is more reactive than Mn ‘Al’ displaces Mn from its oxide.



(i) 6CO, (g) + 6H,0 (1) —SUnight | .1 0, (s) + 60,(g)

(i) CaO + H,0 —— Ca(OH),

(ii) 3BaCl, + Aly(SO,), — 3BaSO, + 2AICI,

(iti) 2FeSO, —" , Fe, 0, + SO, + SO,




(i) 2Mg (5) + Oy (g) —— 2MgO ()
Combination reaction (Reghpx reaction).
(if) 2H,O (1) —Scrolyss , 9H, (g) + O, (g)
Electrical decomposition reaction.
(a11) NHB (g) + HCI g) —— NH_.ICI (s)

Combination reaction.

(a) 2AgBr —SURiEht , 9As + Bry

(b) 2FeSO, — % 5 Fe,0, + SO, + SO,

(i) 2FeSO, (s) — 5 Fe,O4 (s) + SOy (g) + SO; (g)

10. What is observed when a solution of potassium iodide solution is added

to a solution of lead nitrate? Name the type of reaction. Write a balanced
chemical equation to represent the above chemical reaction.

Answer.Yellow precipitate of lead iodide is formed. It is precipitation reaction.
Pb( NO3)2 (aq) + 2KI (agq) —-> Pbl2 (s) + 2KNOs3 (ag
It is also called double displacement reaction.




11.Write chemical equation reactions taking place when carried out with the

(a) Iron reacts with steam

(b) Magnesium reacts with dil HC1
c) Copper is heated in air.

(a) 3Fe (s) + 4H,0 (g) —— Fe3O, (s) + 4H, (g)
() Mg + 2HCl —— MgCl, + H,
(c) 2Cu + O, — 18, 9CuO (s)

(@) 3Fe (s) + 4H,0 (g) —> Fe,O, (s) + 4H, (g)
() Mg + 2HC] —— MgCl, + H,
(c) 2Cu + O, —8, 2CuO (5)

13. What is meant by skeletal type chemical equation? What does i

differentiate between a skeletal chemical equation and a balanced chemical

equation.

balanced




14.Write balanced chemical equations for the following reactions.
i) Silver bromide on exposure to sunli

ii) Sodium metal reacts with water to form sodium hydroxide and hydrogen
Answer.

(i) 2AgBr(s) —UnlEht , 9Ag(s) + Bry(g)

(1) 2Na(s) + 2H,O(l) — 2NaOH(aq) + H,(g)

Mg(s) + 2HCI(dil.) —> MgCly(ag) + Hylg)

ipitate of barium sulphate. State the two types

It can be classified as double displacement as well as precipitation reaction.




18. What is rancidity? Mention any two ways by which rancidity can be
prevented.

rancidity. It happens due to oxidation.
Prevention from rancidity:

ii)Food should be kept in airtight container in refri

9. What is redox reaction? Identify the substance oxidised and the
substance reduced in the following reactions.

i)2PbO + C —-> 2Pb + CO:

ii)MnO2 + 4HCI —-> MnCl: + 2H20 + Cl2

Answer. Those reactions in which oxidation and reduction takes place
simultaneously are called redox reactions.

Fe,O4(s)  +  2Al(s) — AL O4(s) + 2Fe(l) + heat

Iron (IIT) Aluminium Aluminium Molten iron
oxide oxide

It is a displacement reaction because Al is displacing Fe from Fe:0:s.
Molten iron is used for repairing broken railway tracks.




